MATH 111 WORKSHEET 4

50\(}(’, (oNS

Name:

D'\’ork in groups to answer as many problems as you can. Ask questions if you get stuck. I

1. In each of the following equations, solve for the variable.

(a) 13+2(1 — u) = 8u ~ 5(u+7) (c) 8~ (4~ 120) +2 =3t +2(7T — 3t)
=> ID+2-2u = BA -5u - 35 = lo -4 +\2¢& :36‘]‘\4’"66
=> 15+35 = dufld G-\ = ~3& -12¢
=) 50 = 5u - = -\5E

_ &
Answer: u’ _ ‘o Answer: é - /\5

(b) 82+32)+1=z-10[=+1) (d) 2x(6z ~ 1} + 21 = 8x — (3 — 12x)
=> o+ 242412 2 (02-10 =D 1 lx=2x+21 = ¥« ¢ 4|2
= | 7+0 =-92-242 => -2x+2| = Ox

=> 47 =-3352 =2 2\ =7x

2=-N =3

Answer: Answer:
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Pngg 20f9

()@j/
G124 = 5ot )
6> ~5xc=20-24%

x=-4
DPut x4

Answer:

6t—1 19
2450 +d L+l

(n

=> 6t /_ _

Ly
%\
b

14

\\)o 50\u. tlon

(E+)ert) €
—> oe-l - —lalers)

(E+0EAG) T (e+dEt4)
—> 6L-1= —\aE-T6

=> 7256 =-75

L=-3.

Answer:

2. Solve the following equations for the indicated variable,

(a) Solve A = 3p{d — 2r) for p.

=> A ::?)P
A

———

b 2

Answer:

{c) Solve A = 3p(4 — 2r) for r.

Answer:

(b) Solch:EC(ﬁp-f- 3%)—?p for p.
=> T=2pc +9, - /¢
=> T-q = (2¢-7)¢

(d) SolveT=§(6p+ %) - 7p for c.
::-—-7 T B ZPC T CL - 719
=> T +70-9 = 20

T-9 T+~
Answer: - ¢ —7 Answer: C - Z’ P

Cont.
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(e) Solve 34 + 6C =4A4(B - 7C) lor C.

=> 3A+6C =4AB - 2ZF7AC
=7 6C +2FAC= LAB-D3A

(h) Solve 34 + 6C = 44(B - 7C) for A.

= 6C = 4LAB-~7C)-JA

= (4(3-7C)-3)A
=7 (6+2FA)C = (UB-D)A
2(3x14A) | " (Me-10)
Answer: Answer: \)/
(I Solve y = 4 _3917 for . (i} Solve y = 11_2_ for a
= Bj = 4 -4 :__:__> (\-DC):—-IZ-
—=> Ax =4-3 r3
fj :> oC = | - --\-3"
_U-3Y 2
Answer'a— q (d

- M
Aunswer: x - L’i
—
(g) Solve y =

for : (3) Solve = 2% for «
10x + 0 aor ] OVG]]—Q_T:}: r &.

> oma= Yy Oy (5o

=2 Ay -7xy = 5
:? 1OoC = 7/3’61 = 6x“7xj:3—q_‘j
= 7-4Y = x(5-79) = &Y
j 7Y -y
e 5-7-

Answer: I - S ‘7\j

Cont.,
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3. Determine the number of distinet roots for each of the [ollowing polynomials. Do not find the roots.

(n) 2522 — 120z + 619 = 0

o™ kac = 20" - (25)(618) LO

O

Answer:

(b) Hde? — 752 —14 =0

0 tac = 75 - L{i06)(1¢)
= 95"+ (o) (14 >0
2

Answer:

{€) 242 + 60x + 450 = 0

L% boc = 60 - Le(2)(450)
- 607 - 4 (2)(30(19)
=60%- (60X60) <O |

Answer:

() Ta® = 1Tz +5=0

ra
. 274 (5D
0 -beac _ 9299 — 14O SO

Answer:

4. Solve ench of the following equations.
(a) 2 =4z +3=10

(a2 -1)(¢-3) =0

(e) %u:” —43=0

biloc = O ()43

L (ad) >0
2.

Wy

Answer:

(1) 97 + 136x + 2892% = 0

e o = 36 - 4l250(ET) <O

O

Answer:

(g) 1022 T =0
v ~baC = O"Q—(lo)(—'?)
= (7)) >0

Z

Answer:

o _ )
b’L’(-l—OC‘;%S vl

= O

Answer:

(b) dr? +z~3=10

=) (436-3)(:76-& l) )

Answer:

Cont.
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(€) 2+6=(r+4p NH2-r=VE-7x
2 2
=D X%Fo+16 = XA6 => (2-X) = $-7=<
= DCZ+7DC'HO -0 —> J:z—‘{-DC-""L*': S~ 7%

= (A+Nx+5)=0 = D% 3y -4 = O
=D (x4)xA) =0

= ”2’ —5 Ausw&mr":I = | r - Cf'

Answer:

) VIiFdr=4d+/5-x

d) (z+3)2=11(z+3)

= J.z+63c+c{ =1l +373 =7 J+rx Jf:;
W#(e

=) [+Dx +5-% -

= e _ =
x-5x i’; _.OO = -2J[W3Y5-F) = ’5")
=77 (2 -§XAD) = > (1305 = (5 JC)
= s (el =0
=\

-—

= (5-2)(4 -4x) =9_~5
= 57/ 3 =2 (5- -~V %) ;_—_5

Answer:

Answer:

(e} x—8=22-3x (h) Ve -3+ Vx+1
=D - 3+ac+H-UG° XD =4

=3 (x-8) =273 ( ac)
= 273K —-) 2 5o = l 3-
-;:.:‘> 1 —1So¢c + -
— DC:3
h=tac= R 4 (42)LO & \
/4

Answer: ]\b SOlU'b‘m Auswer:

Cont.
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5. Solve each of the lollowing inequalities. Give two solutions; one in inequality form and one in interval notation form. Ex.

a<x<band (a,b.

(a) T+ 2(4 = &) < 12 = 3(5 + Gr)
= T 4§ -Lx V215 -1FX
=% 23x £ -\

1\
o4 5

Answer:

=y -i3g > -L>%F

1)
Answer-(’ooj - /Z'Q

Answer:

(b) 1003+ w) = 92 — 4w}
=> 30 +(0w > 1F-360
=7 Lew 2 — 2

Answer:

(¢) -d<Tr+8<1

=> |77 &7

[4%w@®

Answer:

(c) 2(4 + 5y) < 12y - 6(1 — 3y)
=D 74104 €179 -6+1FY
Vo < 204

—
—

4> Ho

Answer:

_1z s
Answer: 7411-— ‘
(5,

Answer 7!

() 2<24+4(3-x) <6

—> 0 < 432G

=, 04& 3-X < \
= —BS"DCSFZ'

24x£3

Answer:

[ Yo ,O’O)

Answer:

[2,3]

Answer:

Cont.
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(g) 4<Tr+8<1

Some &S e)
OOP>

Answer:
Answer:
1 1 1 3
(h) 5'5:2(-‘1‘1"51) {Z
oLEL )
Answer:

Answer: (O 4 ()

(i) ~12<d4-11m <3

: \6

T émE

Answer:

6. Solve the following inequalities.

(a) 22 -1z 424 <0

324y

Answer:

Answor:

L "%

LIy
47 " 2

=)
1A
i =

Answoer:

' c
~Lxs %

Answer:

(_'/51 6/5]

(k) ~8<2(3+dw) —d(l+3x)<3

Answer:

h<x<%

Answer:

[' Vq / 5/’&)

Cont,
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(b) 22 - 3> b (e) #*+6x> -9

(-w,- %] U[3,6) Al o

Answer: Answer:
A& S

{c) ¥ >30-7¢ Nuw+u<l

p————"

3-8 1459
Answer: =

(-09,-1000(3,°)

Answer:

{d) ms —Tm = 8 () wrFdw—12>10

[-\7]  (-9-9Uze0)

Answer:

Cont.
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(h) 2° +49 > 14 (k) 92 - Gu+1<0

x #0 No solubions

Answer: Answer:

{i} !1 <t (l) 0 +8:5 + 12=4 =1

[o.1] (-00,-€J0[-2,°)

Answer: Answer:

(j) «* =8z > ~14 (m) 2w’ = 3uw* < 14w

(o, 4-52) (~02,~2)

Answer: Answer:

U457, 00) U, 72)

The End.
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